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Q.P. Code: 12372

Third Semester B.C.A. Degree Examination, March/April 2023

(BCC 420) DATABASE MANAGEMENT SYSTEMS - II

Time : 3 Hours

Instructions to the student:
Answer any FIVE full questions.

1.
2,

Student has to attend atleast One full question from each part.

a)
b)
c)
a)
b)
c)

PART -A
Explain the anamolies of database design.
Define normalization. Explain the anomalies of normalization.
With an example, explain multi valued dependency.
Explain 3rd Normal form with an example. '
Explain BCNF with an example.
Explain 4th Normal form with an example.
PART -B
With a neat diagram explain physical storage structure.
Explain different RAID levels.
Explain different way to organize the file.
Write a note on data Dictionary.
With an example explain B+ tree.
PART-C
Explain ACID properties of transaction.
Explain different states in transaction.
Write a note on log records and data modification.
Discuss about concurrency control.
Write a note on failure classification, storage and recovery.
Briefly explain transaction commit.
PART-D
List out datatypes used in PLSQL and give example to each.

Max. Marks : 80

(6+6+4)

(5+5+6)

(8+8)

(5+5+6)

(5+5+6)

(5+9+2)

How you declare and initialize variables in PLSQL and write a PLSQL program to

perform arithmetic operation.
With syntax and example explain CASE statement.

(5+6+5)

Explain for loop-and reverse for loop in PLSQL. Write simple example program.
With syntax and example explain GOTO and CONTINUE statements.

With a simple program explain the concept of )
(i) if-then
(ii) while

(6+4+6)
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Third Semester BCA Degree Examinations
March / April 2023
(CBCS NEP Scheme Freshers)
HINDI Language, Paper - III
NBC 0030 : Hindi Kavya Sangraha, Vyakaran

Time: 2 hrs.| [Max.Marks:60
Instruction to the Candidates :

1. The students should legibly write Section number along
with question numbers.

2. The answers without Section number and question
numbers will not be valued.

3. The question numbers should be leglbly written within
the margin only.

SECTION - I
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Third Semester B.C.A.Degree Examination, March/April 2023
(CBCS NEP SCHEME)
(NBC 0220) C# and Dot Net Framework
Time : 2 Hours Max. Marks : 60

Instructions to students:

1. The students should legibly write section number along with question numbers.
2. The answers without section number and question numbers will not be valued.
3. The question numbers should be legibly written within the margin only.

SECTION - I

I.  Select the most appropriate answer from the options provided. (10x1=10)

I-1. Code which is not controlled by CLR is known as
a) exception code b) unmanaged code c) managed code  d) none

I-2. g option in command line debugger specifies
a) continue till next break point b) exit the debugger
c) display current break point d) None of the above

1-3. A static class can be used as base class

a) Yes b) No c) May or may not be used as base class d) None
I-4. What is the output of the following code snippet?

using System;

class User {

User(X
Console . Write("Hi");

}
User(String user) : this()

{

Console.WriteLine("Hello {0}", user);

}
public static void Main(X
User u = new User("Ramesh");

}
}

a) Hello Ramesh b) Syntax error ¢) Hi Hello Ramesh d) Runtime error
1-5. Problem with old error handling technique is lack of
a) Dependency b)A Performance c¢) Symmetry d) Optimization
I-6. Which namespace contains all other important .NET namespaces?
a) System b) Object c) Windows d) Console
1
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Explain the concept of Object Generation with respect to Garbage Collection.
Explain 3 types of ListBox controls. Write a C# program o demonstrate any one
of them.
SECTION - IV
Answer the following: (2x10=20)
a) Explain the role of common intermediate language.
b) Explain any three string methods in C# with example.
c) With example show the difference between multi dimensional array and jagged
array in C#. (5+3+2)
OR
a) Write a note on constructor overloading and constructor chaining with example.
b) Write a note on sealed class in C#. )
) Explain interface inheritance with example. (5+243)
a) Explain any 5 classes in System Collections namespace.
b) Write a C# program to demonstrate array of interface. (5+5)
OR
a) Describe any 3 properties and 3 events of Control class.
b) List the steps involved in database interaction using connected layer of ADO.

NET. Write a C# code snippet to show how to print data in a database table
using Connection and DataReader objects. (5+5)
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Third Semester B.C.A.Degree Examination, March/April 2023
(CBCS - NEP SCHEME)
(NBC 0210) Database Management Systems (DBMS)
Time : 2 Hours Max. Marks : 60

Instructions to students:

1. The students should legibly write section number along with question numbers.
2. The answers without section number and question numbers will not be valued.
3. The question numbers should be legibly written within the margin only.

SECTION - 1

L. Select the most appropriate answer from the options provided. (10x1=10)

I-1. During transaction before commit which of the following statement is done automatically
in case of shutdown?

a) Rollback b) Commit c) View d) Flashback
I-2. Which of the following is the full form of TCL?
a) Ternary control language b) Transaction control language

c) Transaction central language d) Transmission control language

I-3. Select the correct definition of relation.
a) Subset of a cartesian product of list of tuple
b)  Subset of a cartesian product of list of attributes
c) Subset of a cartesian product of list of domains
d) Subset of a cartesian product of list of relations

I-4. Which of the following allows to uniquely identify a tuple?
a) Schema b) Attribute c) Domain d) Super key

I-5. Which of the following can replace the below query?
SELECT name, course_id FROM instructor, teaches WHERE instructor_ID=teaches.ID;
a) Select name course_id from instructor natural join teaches;
b)  Select name, course_id from teaches, instructor where instructor_id=course_id;
c) Select name, course_id from instructor;
d)  Select course_id from instructor join teaches;

I-6. Select the correct command to modify a column in a table.
a) Update b)  Alter c) Drop d) Set

1-7. NATURAL JOIN can also to termed as -
a)  Combination of Union and Cartesian product
b)  Combination of Selection and Cartesian product
c) Combination of Projection and Cartesian product
d) None
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What is the initial value of index for a reverse for loop?

a) UPPER bound b) Lower bound c)l d) (Upper bound-Lower bound)/2
Can BOOLEAN datatype be used in functions that are called from SQL statements?
a) VYes b) No c) Depends upon d) Invalid option
Which of the following correctly defines a cursor?

a) A cursor is a pointer to a temporary work area created in the system memory
b) A cursor is a pointer to a permanent work area created in the system memory
c) Acursor is a pointer to a temporary area DDL statement

d) A cursor is a pointer to a permanent work area created in DDL statement.

SECTION - 11

Write a short note on any FIVE of the following: (5x3=15)
What is data independence? Explain its types.
Define Schema, instance and query.
What do you mean by weak entity sets ? Give example.
With syntax example explain any three aggregate functions in relational algebra.
With syntax and example explain views in dbms.
What is functional Dependency? Explain with example.
Explain structure of PLSQL program and give example.
Explain for loop and reverse for loop. Give example.
SECTION - III

Answer any THREE questions from the following: (3x5=15)
Explain in detail about classification of DBMS.
Draw an ER diagram for library management system which has student, teacher,

books, inventory and requirement? Clearly highlight entities, relationship, primary
key, and foreign key?

III-3. Explain inner join and outer join with an example.
III-4. List out features and advantages of PLSQL.
III-5. Define Cursor and explain its types.
SECTION - 1V
IV. Answer the following: (2x10=20)

Iv-1.

a) With example explain Data base languages for their commands (DDL,DML,DCL,TCL)
OR
2
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b) Consider the following relations
employee (Eno, ename, designation, salary, deptno)
department (Dno, dname, location)

The primary key is underlined and deptno of employee table is reference to
Dno of department table

Write SQL queries to perform the following
(i) Create table for the above mentioned and show how rows insertion for each

(it) Find the employee details in ascending order of their name and descending
order of their salary in a single query.

(iii) Find the details of all employees in the research department
(iv) Find the minimum, maximum and average salary of each department
(v) Find department name having least number of employees

IV-2. a) What is normalization? Why do we need to normalize our database? Explain

2nd NF, 3rd NF and 3.5 NF by taking proper examples
OR

b) (i) Explain Exception handling in PLSQL

(ii) Write a PLSQL program to check whether the inputted number is palindrome or not?

T




